
Group 2. Present the novel, part 2. 
 

Later, Hindley’s wife = , baby = Hareton, a boy. But she  
 

Hindley =   and even more  with Heathcliff. Catherine and  
 

Edgar even if she  Heathcliff >Edgar. Heathcliff =  
 

 so,  and … Catherine =  
 
 

After three years, Heathcliff , he is ££££££!!! Catherine =   
 

+  because for her, Heathcliff’s return = …  Hindley has £ problems   

 

Heathcliff accepts to  but with  so Hindley = big  

to Heathcliff. When Hindley , Heathcliff   the Earnshaws’ house =  
 



beginning of revenge. In the same time, he and Isabella Linton  so  
 

one day, maybe Heathcliff =  the Lintons’ house too. A very plan!!... 
END GROUP 2 
 


